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6.1 — 6.3 Review

I —
1) Hind the component form, magnitude and direction of PQ.

Given that P = (-7, 8) and Q = (-9, 2) Tovmind = Lniteel
L-G¢7, 2% B Ny o
-2 -¢> s = JCRHEC) ter”' () 21157
Il =/ 90 /50+ 21,57 = 25157
2) Iﬂind the component form of the indicated vector 2u — 3v.
24-3,3> -3 Z-/J-’> .
<"CIJL'> —-<—>"3> <—l) q>

3) E|ind the unit vector in the direction of the given vector. Write your answer
xl'n component form. Let u =(6,9).

ﬂ‘b'; l)é,z*i_" - g 7
=7 <WT7', &
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4) )} plane is flies on a compass heading of 100 degrees at 275 mph. The wind

1% blowing at an angle of 205 degrees at 30 mph. What is the true course and

round speed of the plane? i N e
grr i; = (275:93/00; 27S s, lod > w = é0£¢5205 30 S >

- 1 ;ﬂ S_
" P';.f-jg <&7)’L¢9¢>/oo + 30(0520&, 2723 Sin/fod 4+ 3025 20 ;> | ]
specol = V(-T157)4(265.09)

|
~7Y.94, 285.4%)
" AN 2= acg comph

5) Find a - b, given a = (2,5),and b = (—3,8 | )
) Hind a - b, given a = (2,5) ( ) {:z.nd(z'ﬂ"li)’ -73. 51

| ot Prodet 79,57

nd Ao Mt
| 2)(-3)+ (536 2= ) ,
| ¢ —¢ 90 ~73.81°#76% = 106/ 17

| ~ Y
6) | Kind the angle between the two vectors.

| lul = JZ " vl - Jra)Hs T
u=(2-3), v=(-43) s oy
u-v = {3

(o507 lul dvl

~23 o
| (D(-4) +(~3)(5) ( 5“‘(‘5—“ = /75,03
| T (V) o /533
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7) Determine if the vectors are parallel or orthogonal. If the vectors are
orthogonal, prove using the dot product.

lf gt 228 F.2
N M) u=(54), v=(4-5) B) u=(-32), v=(3-2) * -3 >
(\;a" (€)(4) l'[‘l))(’f) (-3)(3) & (-2 LI

2000‘ (Lo ~§ L -4) Pua./a
or&'"’.s’"‘l "/}

8) a)  For the given parameter interval, graph the parametric equations.
b)  Then, eliminate the parameter and identify the graph of the parametric
curve

x=2t-1 y=t ontheinterval 0<s<2

Find a parametrizations for the curve.

t=o0
9) The line through the points A = (-1, 5) and B=(2, 7)
Xz -]+A4At vy =S4 At .
-1 I—él-(—t)t y = 5 + [7-5)
Xz =1 +3¢ y>£+2t
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10)  The men’s horseshoe pitching court has metal stakes 40 feet apart. The
stakes stand 18 inches out of the ground.

a. Alan pitches a horseshoe at 48 feet per second, at a 12° angle to the
ground. He releases the horseshoe at about 3 feet above the ground
and 2 feet in front of the stake at one end. Write parametric
equations modeling a typical throw.

X= Ys€ ces 12 3 2

y= ‘s ot Tt Y6tsniz*3

b.  How long is the thrown horseshoe in the air?
o= /6t zi‘/&é s/n 12° ¥3

. q-gs,_tﬁﬁ § ‘—‘/(ﬁ(—)(_’-i_)_

ql How close to 40ft is the horizontal component when the horseshoe
i 9 o
futs the‘ground: Xz ¥6(.5955) cosl2 +2
2 Y1.¢ 47

1.c57 £¢ psst s be /e

11) Determine whether a baseball hit from a height at 1.5 feet, at a speed of 135
feet perisecond, and at an angle of 32° relative to level ground will clear a 10-foot
wall 425 feet away.

xz |35kos 12° Y= tetEe 73S tsin 32" +45
Y25 =||I35 ¢ cos 32 yste (3.71)% 135(3.711) 5in 32 +.§
Q25
b;||l5>'5o$32 - (7'6,(.8 2/9

t=3. 71 Yes H.R !



